[ > #TP 1 Maple (Structures de Calcul 1)

[ > #Exo 1:

[ > restart;

[ > assume(n, integer);

[ > u:=sin(n*P1);

L u:=0

[ > v:i=cos(Pi/2+n*Pi);

L v:=0

[ > wi=tan(n*Pi1);

L w:=0

[ > x:=sin(Pi/2+n*Pi);

I x:=(-1)"

[ > y:=cos(n*Pi1);

i y:=(-1)"

[ > #Exo0 2 :

> imit((In (N))NS/n?3,n=Infinity);

L 0

[ > limit(n™6/exp(n™2) ,n=infinity);

L 0

> 1imit(exp(n™8)/(n1) ,n=infinity);

L o0

> limit(n!/n™n,n=infinity);

L 0

[ > #Exo 3 :

[ > restart;

> 1imit((3*n"2+1)/(-5*n"2+6*n-6) ,n=infinity);
3

L 5

> 1imit((4*n"3+9*n)/(2*n"2+7) ,n=infinity);

L 0

> limit((n"2+n+1)/(-6*n"3+4*n) ,n=infinity);

L 0

| > #Exo 4 :

> Limit(n*((1+1/n)~(alpha)-1) ,n=infinity);

L o

[ > #Ex0 5 :

[ > #01 :

[ > uz=n!;

L u:=n!

[ > vi=sgrt(n)*(n™n)*exp(-n);

i vi=/n e "

> Timit(u/v,n=infinity);
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ul:=%*v;
it i=of2 x ol e
#Q. 2 :

w:=(1/sgrt(n))*(n*n)*exp(-n);
n(n)

[
Limit((u-ul)/w,n=infinity);
2=
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u2:=ul+%*w;

UZ—IIﬁn(n)+1[@n(n)

#Q 3 :
series(u,n=infinity, 2);
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#EXO 6 :
restart;
u:=ul0+n*r;

u:=ud+nr
assume(r>0);
lLimit(u,n=infinity);

assume(r<0);
lLimit(u,n=infinity);

assume(r=0);
limit (u,n=infinity);

r="r-°;
r=r
factor(sum(u,n=0..N));
(N+21)(rN+2u0)
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